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Example

|dentify a pair of congruent segments .
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Segment Addition Postulate

If three pts A, B, and C are collinear _
and B is betweenA and C, then AB + BC = AC

B
A
Example
If AC = 25, Find the value of x
2% -6 Xx+7




Segment Addition Postulate
If three pts A, B, and C are collinear _

and B is betweenA and C, then AB BC AC

A
Midpoint - divides into two congruent segments

If B is the midpoint of AC and AB = 5x + 9 and
BC = 8x - 36, find AB, BC and AC.



More Examples:

If DT = 60, find the value of x. Then find DS and ST.
D - i 7
8 & ®
2x -8 3x-12

IF EG = 100, find the value of x. Then find EF and F6.

E 6

4x -20 2x + 30




L n jectives:
lcan...

¢ identify congruent segments

¢ use the segment addition postulate to algebraically solve for unknown
segment lengths

¢ use the definition of midpoint to algebraically solve for unknown
segment lengths

Assignment: page 33: 2-22 even, 29-35 all




